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Fred receives £45 for his birthday. He
spends 10% of his money on
chocolate. How much has he got left?
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Jane said the number of hair cuts at
her salon rose by 25% this year from
last year. If she did 500 haircuts last
year, how many did she do this year?
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Bill had £1000 left to him by his
granddad. He spent £500. He put 25%
of the remaining amount in a bank
account. How much did he putin the
bank account?
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Sue said % of £600 is the same as
10% of £4500. Is she right?
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A painting double in value. (a) What
percentage increase is this? (b) If the
painting is now worth £350 what was it
worth before?

A painting double in value. (a) What
percentage increase is this? (b) If the
painting is now worth £350 what was it
worth before?

A painting double in value. (a) What
percentage increase is this? (b) If the
painting is now worth £350 what was it
worth before?

Bobs buys a car for £20000. It
depreciates by 10% each year. Find
the value of the car after 3 years
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